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1. Rakesh buys a cycle for X 500 and sells it for X 750.
Find his gain/loss?
To8e2’ 2,00 T8 O, X 500 3, 0B X 750 3,

SIS, VBT 3/ IFTY, BoDERRITe?

(a) Gain X 250 (b) GainX 125
(c) Loss X 250 (d) Loss X150

2. If a man bought a toy for X 1500 and sold it for X
1450, then find his gain/loss.

22y B;30d 1500 B, 3633 20eD X 1450 3, o00E3
B33, OSS U9t/ IFS, S0 RBAND.

(a)X 60 (b) 150
()X 50 (d) 290

3. Ramesh purchased an article for X250 and sold it for
X 400. Find the gain per cent.

Ohed’ OID X 250 3, JeadSD, w0eHITD A
W3R X 400 3 TR RRBTD. | LIS

BoRHAMO.

(a) 55%
(c) 75%

(b) 60%
(d) 150%

4. Ravish buys an article for X 2700 and sells it for X
1800. Find the percentage profit/loss on the same
article.

3’ 3D X 2700 B, SeTST), 0BT D)
B X 1800 8, Bye0et3 erBeT. BTt JeasB

FeBToDAD) maﬁ/da‘gd@( F0RDHBAO.
51‘7 b 50l %
(a) P (b) 3

22‘7 d 331‘7
(C) 3 0 ( ) 3 (]

5. In terms of percentage profit, which is the best
transaction?

FeB@omed ol  IRDTY, WD  ev3D

DD ?

CP () Profit (X)
(a) 36 i
(b) 50 24
(c) 40 19
(d) 60 29

6. The ratio of the cost price and selling price of an
article is 20:21. The gain per cent is

200 JeRBT SPB BS DR Sevewsd eSeSab

OV ToB) 20:21 e3NT. 3923 Te

[SSC CPO 2011]
(a) 3%
(c) 5%

(b) 4%
(d) 6%

7. If cost price of an article is 30% less than the selling
price of that article, then what will be the profit
percentage?

003 BADIN By 8 SWDAR Fp0eesd SNo3

30% 3BDANGIT, 311 03B FeBEoTOD) OR),?

(a) 37.5% (b) 33.33%
(c) 30% (d) 42.86%

8. The ratio of cost price and selling price of an article
is a: b. If b is 200% of a, then the percentage of profit
on cost price is

200 JeR3 WS DR Brevewsrd WS DHeBY)
a:b.b&NZ3 a & 200%, 311 3@ 3Sob e eroeda

Tes@omod  (SSC (10+2) 2011)
(a) 75% (b) 125%
(c) 100% (d) 200%
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9. The CP of 18 apples is same as the SP of 16 apples.
Find the gain per cent.

18 ey CP 16 Jewriy SP abo3ode ah3a3.

rﬁ@éoi)dg( 30 Te.

[RRB Group D 2018]
(b) 11%
(d) 12%

(a) 12.5%
(c) 11.5%

10. If a man estimated that his loss is 20% of selling
price, then his original loss percentage is

22), T 30d B IFSY, BP0 LeIab 20% 0T

@00 dTT, BB B IFTW TeSBooD)

(a) 20% (b) 25%
(c)403 % (d) 50/3 %

11. If a man purchases some oranges at the rate of 12
oranges for X 10 and sells.them at the rate of 10
oranges for X 12, then find the profit/loss per cent in
this transaction.

2e) S30dn 12 33Y DY, X 10 3, 00eRS 10 3SYY
BOBY X 12 B, 0wt BTV, B TdHDeedS
el IFT, Te.

[RRC Group D 2013]
(a) 34
(c) 54

(b) 44
(d) 56

12. A dishonest dealer sells his goods at cost price but
he uses a weight of 850g for 1kg weight. Find his gain
percentage.

W) V@RI Dywed B ITBAYRY LI
etz ST BB 132 Bed3, 850 M0 BABIY,

WVYDBIR. B U933 TeB@ozed) 30RDHAAD.

(a) 17.64% b) 20%
(c) 20.18% (d) 19.3%

13. A man sold his horse for X 1980 and gained 10%.
The horse was bought for

22) B8 3T, DWOOVRY, X 1980 8, Fro00E3 BB 10%

NPIBD. DD, OedJwN

(a) X 1800 (b) X 1782
(c) X2178 (d) None of these

14. If a person bought an item for X 96 and sold it at a
profit of 12.5%, then the selling price of the item was

ey S3odd X 96 B, IS, 0B VT, 12.5%
3B Sre0ee3 SBTT, 8 SR Ryevetsd IS

[RRB ALP 2018]
(a) X105 (b) X110
(c)x112 (d) %108

15. A machine was bought for X 1500 and a repairing
charge of X 100 was paid afterwards. At what price
should it be sold to gain a profit of 25%?

2003 ojao@da’g( % 1500 éé 20eR 3033 X 100 3R
D), ToDSTITID). 25% 7923 BBDe a3 3

SO0IE3 DITBIER)?

[RRB ALP 2019]
(b) X 2000
(d) X 1960

(a) X 2040
(c) 1920

16. The difference between the selling prices of a
keyboard sold at losses 10% and 19% is X 27. Find the
cost price of the keyboard.

10% D) 19% IBQ Fevetdned deedeed’es
So0e3d BUNY SBDAIT F@Ry X 27 &8NT.

SeeSperr S WSod 23Sab B0HBMND.

[RRB Group D 2018]
(b) X270
(d) %330

(a) X300
(c) 240
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17. A man sold his watch at a loss of 5%. Had he sold it
for X 56.25 more, he would have gained 10%. What is
the cost price of the watch (in X)?

we) BB 3F NBWSBIY 5% IFF, e0TD. X
56.258, o003 S7eBFT Fe.100R), werd DR
TFS VS oR), (R TY)?

[SSC (10+2) 2014]
(b) 365
(d) 390

(a) 370
(c) 375

18. A vendor sells pens at 20 for X 2, gaining 80%. How
many pens did he buy for X 17?

2R) AvpleriXlarie] éabdrwabd Z2 86 20 3:5 o003
DN, 80% MPDWBS. X 1 B, OR), éxﬁg(
0eDITD?

(a) 18
(c) 22

(b) 20
(d) 16

19. There would be a loss of 10% if .an article is sold for
X 43.20. At what price should it be sold to gain 10%?

200 SRS, X 43.208, o003 S1BBT Fe. 100w,
SEDHBT. 10% NEJe aved JU Srevees

Srorelemy? [SSC CPO 2016]
(a) X 48.80 (b) X52.80
(c) X 56.20 (d) X 56.80

20. An article is sold at a certain fixed price. By selling it
at 2/3 of that price, one bears a loss of 10%. The gain
per cent on selling it at the original price is

2O SIS, G, VSR SedwerhEd. wds
SJab 2/3 3, Fevet3 TS Swew3, W 10%

S8BT BeoDIIS.  Swo B Seves
BB Be

(a) 20% (b) 33%%

(c) 35% (d) 40%

21. X sold two articles for X 4000 each with no loss and
no gain in the transaction. If one was sold at a gain of
25%, then the other was sold at a loss of

X Q3R demdrﬁéd& X 4000 3, 0w FAD,
So2et3SY Wede S D) erddy. 0B
Fe25 Ox@), wedd o038, wkRod IR,
3T R)

2
(a) 25% (b) 185 %

2
(c) 16 3 % (d) 20%

22.Asells 2 TV sets for X 1000 each one at a loss of 15%
and another at a profit of 15%. Find the loss/gain
percentage in the overall transaction.

@ 2 8 JIFNYI) X 1000 3 15% IZBO DR
VIROW 15% LIBY FeTeE3 FPWIT. 2E3T
SoetdRY  IF/edd  FeSwemed Ty

B0RHRAN0.

[AFCAT 2017]
(a) 2.25%
(c) 4%

(b) 3%
(d) No profit, no loss

23. Manisha sold a house to Rati at a profit of 40%. Rati
sold this house to Anu at a loss of 20%. If Manisha paid
X 500000 for the house, then find the cost price of the
house for Anu.

DeT a’e.4odabd mejdeﬁm 003 Q0IION DI
203, 38 B d)doi)dg( o 030 20% IS,
D03  IBBD. DT DI T 500000

©0B338GT, DA DIob IS, SoDHBAO.

(a) X 550000 (b) X 560000
(c) T 600000 (d) X 650000
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24. Mohit sold an item to Dev at 10% profit and Dev (a) 50% (b) 25%
sold that item back to Mohit at 10% loss, then in whole (c) 60% (d) 75%

transaction

ST 20T ST, Tea'rt 10% o3t SrodTD
D) ek €3 d@d@( SeedTt 10% S, S708D,
S0BT ToTeF SBT3

(a) Mohit got no profit, no loss

(b) Mohit got 11% profit

(c) Mohit got 20% profit
(d) Dev got 20% loss

25. A man had 100 kg of sugar whose some part had
been sold for a profit of 7% and remaining part had
been sold for a profit of 17%. In this transaction, he had

2
27. Gita buys a plot of land for X 96000. She sells E th

of it at a loss of 6%. She wants to make a profit of 10%
on the whole transaction by selling the remaining land.
The gain per cent on the remaining land is

Nezo 2,08 ABeITSIY, 96000 3, HOLDITD. BD
©BBY 2/5 Je NS, 6% S&3, Sye0eE3 SFyerST.
UPT RO, Pevet IS Swewd wBe
SoDedS  Ded  10% VRIS NOTWw OV
Q0DHRDTIY. GVIT o) el Te

overall profit of 10%. How much sugar was sold on a [SSC CGL 2013] 2
profit of 7%? (a) 20 (b) 20 5
(TAN deséoin 100 32 R’)sédod)dg( Eﬁfao&cﬁo‘?i), 3 SOY) (c) 14 (d)7

IINBY, 7% U033, So0E3 BeBIeNE) ) BLPT
VNS, 17% s, Sovees  IeBUeNA). B
SR,  OTD  WEIT N
BRODZD. 7% 3B OR), 3,3 RreUetsodhE)?

(a) 65 kg (b) 35 kg
(c)30kg (d) 70 kg

10% majddg(

26. A vegetable vendor purchased some vegetables
from the mart. He sold 2/3 part of the vegetables at

28. A businessman sells'a commodity at 10% profit. If
he had bought it at 10% less and sold it for X 2 less, then

2
he would have gained 16 g %. The cost price of the

commodity is

(XXA) emdascl’b 10% majd@m 5d&rwd& DI0E3
SRS, Te.100wm), 3BT dedd X 2 ZB
32033 Fe.16 2/30R), UewerdER). IcBNY I3

33 [SSC CGL 2008]
25% loss. Find gain percentage on rest of the
vegetables so that there is no loss and no gain on the (a) X 32 (b) 36
whole vegetables. (c)x 40 (d)x48
33300 DT IEMITD DEFEN0T BOR)
30B0MYRY  w0eDITD.  oID  2/3 e

B0B0MYRY 25% IFF, Sevets FBTD. VLB
B050MY eI Fedwomed ISR BodEeT,
23008 JoPpr STZONYY areYde Ix, DI

emzjci’)om.
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